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QUESTION 1

Consider the following example view: 

Which of the following best describes how this view could be used? 

A. To help infrastructure engineers design necessary increases in server capacity to improve the financial reporting 

B. To assign software developers to the work packages needed to address problems with the financial reporting 

C. To familiarize managers and enterprise architects with the motivations of the Corporate Controller 

D. To put in place changes to business processes to address requirements of the Corporate Controller 

Correct Answer: C 

 

QUESTION 2

At ArchiSurance, the Take in Claim process creates a Claim business object, while the remaining processes in the
sequence below refer to and update the Claim business object. 
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Which structural relationship could replace the association relationships in the diagram to more precisely describe how
ArchiSurance Claim processes interact with the Claim business object? 

A. Used By 

B. Flow 

C. Assignment 

D. Access 

Correct Answer: D 

 

QUESTION 3

Consider the following statement: 

1.

 An application component is a self-contained unit of functionality. 

2.

 An application component may perform one or more application functions. 

3.

 The name of an application component should preferably be a noun. 

Which of the following answers regarding the statement is correct? 

A. 1 and 2 are correct, 3 is not correct 

B. 2 and 3 are correct, 1 is not correct 

C. 1 and 3 are correct, 2 is not correct 

D. 1, 2 and 3 are all correct 

Correct Answer: D 
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QUESTION 4

The Document Archiving application relies on an archiving service, which it accesses through a reliable queuing
interface. 

Which relationship would most accurately describe this situation? 

A. Assignment 

B. Realization 

C. Used By 

D. Triggering 

Correct Answer: C 

 

QUESTION 5

Scenario 
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Please read this scenario prior to answering the question 

Independent insurance brokers that work with ArchiSurance have complained of difficulty in communicating with
salespeople and other personnel at ArchiSurance. They have said that email is too clumsy and slow for working on
urgent deals, 

people do not always answer their mobile phones, and it is difficult to tell whether an individual is available. They have
also complained that it is too time-consuming for them to manage their commission payments using an older web 

application that requires them to print out and mail forms for making some routine changes, and also does not work on
many mobile devices. Some brokers have said that it is easier to do business with ArchiSurance competitors that
provide 

easy- to-use mobile applications for both general communication and commission management. In fact, the
ArchiSurance Vice President of Sales and Chief Marketing Officer have both expressed concern about reports from the
ArchiSurance 

market research department that the company is gradually losing market share withsome of the same brokers that have
been complaining. These executives are also concerned that ArchiSurance may not meet the targets for revenue
growth. 

Upon hearing about these issues, the ArchiSurance Chief Information Officer (CIO) hired a consultant to design a new
mobile infrastructure for broker interaction. This infrastructure is required to enable easier communication with 

ArchiSurance brokers in order to help the company increase its market share with each of them and consequently attain
its targets for revenue growth. In order to ensure that the new infrastructure would meet these goals, the CIO told the 

consultant that the new infrastructure must make it easy for ArchiSurance to develop and deploy applications and
content for its brokers. It must provide federated authentication and an encrypted communication channel as well as
instant 

messaging and presence services. 

The new mobile broker interaction infrastructure architecture includes a number of system software components. A
secure reverse proxy authenticates users and provides an encrypted channel to communicate with them. The proxy
uses a 

service provided by directory server software to authenticate users. The directory server communicates with the
ArchiSurance federation server, which in turn communicates with peer federation servers hosted by trusted brokerage 

organizations. Once the user is authenticated, the ArchiSurance broker portal uses the ArchiSurance web content
management system to assemble authorized and relevant content for each broker. In order to provide presence
services, a 

unified communications (UC) server exchanges information with the directory server and an instant messaging server. 

All of these components are hosted on a single physical hardware platform hosting a virtualized server infrastructure.
The server infrastructure is connected to a converged local area network (LAN), which is also connected to a
commercial 

wide area network (WAN) over which ArchiSurance communicates with its brokers. 

Refer to the Scenario 

The solution delivery team for broker interaction would like to get a clearer idea of the motivations behind this solution
as they plan a second release. You must model the stakeholders, drivers, assessments and goals that shape this
strategic 
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initiative. You must also show the relationships between these motivational elements. 

Which answer provides the most complete and accurate model? 
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A. B. C. D. 
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Correct Answer: B 
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